101.

102.

ST DY L ENTIRE

TNPSC GROUP IV EXAMINATION 01.09.2019

GENERAL STUDIES
Match List I and List II:
List I List II
Planets Number of natural satellites
a. Mars 1. 60 satellites
b. Jupiter 2. 27 satellites
c. Saturn 3. 63 satellites
d. Uranus 4. 2 satellites
a b C d
A 1 2 3 4
B. 4 3 1 2
C. 1 4 2 3
D. 4 1 3 2
uCuwed I ewwr uluied I o L &1 GuTmHSHHIS
U guied | U guieo 1T
a. Gaeueumul 1. 60 ZHlememw1HBHT6ITEH6NT
b. aflwmpes 2. 27 HlenentdbBHTeiab6i
C. geul 3. 63 ZHlemew1&HCHT6ITH6N
d. wGreerd 4. 2 FInew1sGHITeIaEH6i
a b C d
A 1 2 3 4
B. 4 3 1 2
C. 1 4 2 3
D. 4 1 3 2

The compound used in breath analysis test for drunken driving is

A. K2Cr207 B. KI C. KMnOq D. CuSOy

D& SIHHYH amsaid @l Halmsd SIS SGeaursiugluruie] GarsHemenulsy
uweruBd @FiTiod

A. KQCI'QO7 B. KI C. KMHO4 D. CUSO4
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103. Which Metro Rail Corporation has started the initiative to become the

World’s first 100% solar-powered metro?
A. Jaipur Metro Rail Corporation Ltd.

B. Gujarat Metro Rail Corporation Ltd.
C. Delhi Metro Rail Corporation Ltd.

D. Chennai Metro Rail Corporation Ltd.

100% @fw syBpede LWETLGSHSE, 2 6udler (PpHeL 6ol GrmeuTs o (HauTd

wpwBd QFuub Bguied Bpieued 61g)?
A. Guitgfm Gl Gym @yuied mHmleuedid
B. @&myms Gl Gym @yuied mmieuenid
C. GLebed Gl Gymr @guisd mWmieueTD
D. Gaeaenen Gl Gym @yuied Hmieued

104. As per G-20 surveillance note, India’s economy is to grow at in the
year 2020
A.65% B.55% C.75% D. 8.%
G-20 sewateniiy @piinieng 2020 b SNl ShHuneiler GLUITHETTSTY
QUGS OB B(HDBGLD
A.65% B.55% C.7.5% D. 8.%

105. In the year 1951, population growth rate is called

A. Year of Great Divide B. Year of Population Explosion

C. Year of Population D. Year of Small Divide

19518110 60 WEHHATOBHTNS CLHDHS D ey DMWPSHBLILBGH MBS
A. Qu@d UWfelener Siewilh B. 10éx610sTe0ns OQauglil] S16w1(H

C. w&56M0HTND SL6mTL D. fmiieney oyemib

106. In which desert is Noor Complex located?

A. Sahara Desert B. Thar Desert

C. Kalhari Desert D. Gopi Desert

BT STDUTSHD 61[hEH LITENEVAIATIHHD DIMLOHSHI6NTeNSHI?
A. FamIT UTEN6VEIGTLD B. st uremeveuetd
C. sevammfl UTenevaITILD D. Gami umemevaueID

107.  Which of the following statement(s) is are/correct?
1. In 2019, World Environment Day was Celebrated in China.
2. The Theme for the World Environment Day is Air Pollution
A.1 and 2 are true B. 1is true, 2 is false

C.1 and 2 are false D. 2 is true, 1 is false
Letteu(Hd FmBmiHelled elemeu Filuimengy?

1. 201981  SUeWIQeT 2 60& FMWIFGHWL  Hel  OBTEWILT LD  Fermaled

PO GLBBS)
2. OIHET MOWEBHSHSH : SHTHWI 0TS
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108.

109.

110.

111.

112.

A. 1, 2 g dHwiemen g B. 1 #f 2 seaum
C. 1, 2 gdwemel Houml D. 2 gfl 1 e

The objective of Jandhan Yojana is

A. Financial inclusion B. Reducing regional disparities
C. Social exclusion D. Population control

WISl FH L SHFHler GBlECamein

A. SiaaIdIUID 2 6ol _S&lul GUITHENMTHTT (LpesT@ariBmID

B. Ul gBBoHITDaBmeNT GMmBLILS)

C. s allevd®e0

D. wésenoarens &l BUILTH

France has party system.

A. Single party B. Multi party

C. Biparty D. None

LymestFled o e6itenm &SLU& (LpedB

A. @iompobsl F (1pens B. uevsl & (1pemm
C. grien. a8 (1penm D. eageb ®evensv

Which water conservation campaign has been recently launched by the
Central Government?

A. Jal Bachav Abhiyan B. Jal Tarang Abhiyan

C. Jal Suraksha Abhiyan D. Jal Shakthi Abhiyan
LHHW DIFFTe0 OHTLMmISLILL B6iTen BT UTHISTULL UFLLenT 61517
A. 2360 uFagTel SUIuimest B. mevmrmi ouiwimest

C. m00 ardaer iuimet D. 260 558 Siuwimes

The major port along the West Coast

A. Kandla B. Chennai C. Paradip D. Kolkata
GuoBE &LBHmyulled SiempbHleTen Ouflul SHieBLHPSLD
A. 6w eom B. Qgeiener C. unggl D. Q&mebasHsHt

In lower organism sometimes the entire mature organisms do not form
gametes but they themselves behave as gametes and the fusion of such
mature individuals is known as

A. Anisogamy B. Merogamy

C. Paedogamy D. Hologamy

sippHlensv o ulflesefled oo Fowmsealsd WHihsy o ulflser EaFbFaOsemern
© (HeuTHSTe0 lela|ulflaBenr GeaFbgaser Cumaip GFweoLl’ (B  eTNleneamIhl
yHw o uilfsemens GCamBmiale@d GlFuied

A. Gaupu' L Qged BaFTdbams B. wmpul L Qgev Gaidbamns

C. @omb GQged BsTHems D. wpuw Gsisms
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113. Match the following:
Place
a. Delhi
b. Central India
c. Lucknow

d. Kanpur

a b C
A 2 1 3
B. 4 3 1
cC 1 3 4
D. 4 2 1
CUT(HHHIB
®L_1b
a. GlLeveVl
b. wHHW @b
C. 6u&Geurm
d. smeny

a b C
A 2 1 3
B. 4 3 1
cC 1 3 4
D. 4 2 1

Leaders of the revolt
1. Begum Hazarat Mahal
2. Tantia Tope
3. Rani Laxmi Bai
4. Bhadur Shah - II

d
4
2
2
3

SHenTFFulled FBULL  HeN6VaUTH6I
Guald amervyg OLoamed
SThHWT CxmiGL

Byment @60l &L LM
usgmTagt 11

PN QRN

114. Who was selected as the first Chief Vigilance Commissioner of India?

A. Sharad Kumar

B. B.K. Acharya

C. Nittoor Srinivasa Rau D. R.P. Khanna
WPWHeoTeUHTE CHTHOBHBHSLILL L HB6U6T ANOIIL6WHITE] DLENERTUISHET  S6eD6EITUIT

wIr?
A. FrsH&L0TT
C. BLGT Falleuts el

B. B.K. s&agmur
D. R.P. seuwrewrnm

115. Consumer Protection Act is called as
A. Tamil Nadu Nugarvor Kavasam
B. Consumer’s Magna Carta
C. World Nugarvor Kavasam
D. Valuable Consumer Kavasam

HISTEUTT LITGHIBTILFFL L LD 6160 SIMIPSHBLILIBGSBSI
A. s0OBTG BISTCMTT UTHISTIL] FULID

B. msGeunflen o&sTFTFID

C. 2 08 HBTGaNT HeuFID

D. wdlieren mISTEaITT SHeugFid
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116.

117.

118.

In which model of elections, the President and the Vice-President, the
members of the Rajya Sabha are elected?

A. By-Elections B. Direct Election

C. Indirect Election D. Mid-Term polls

GLRUIFSHHEMVT IOBHILD  HIHEW  GQUITFHSHEMEVT, BTLTEHLEB  GosvgemL
® mILITNeoTTHeNT wpemm cpeold CHiTHOGHBHBLILIBEIT60TT

A. B HBHTHELBH6N B. GpripstsitsHed (pemm

C. womppssH8HTH0 (LpenB D. @&Liiumeusd BCHiTsHeodei

Which of the following statements is / are correct?

1. The term of office of the Governor is five years

2. He can remain in office till his successor enters upon the office of the
Governor.

A. Both 1, 2 are correct B. only 1 is correct

C. only 2 is correct D. Both 1, 2 are incorrect

LNeTeu(hd mBmibeley eTemeu Fifluimeng?

1. SuepHMST LUSHaNSHDBTeVID MHBHI 6w (HH6I

2. oyenblear  uspaldbsteon  (palmlbhsh Gurdend dnl  LleTerT  eUHLIGUT
uSMCWBGLD euemy UHTUND GISHTL TSI

A. 1, 2 g GrewiB il B. 1 w G o

C. 2 w @G af D. 1, 2 98w yewiGG Heum

Which of the following statements about bases is/are true?

L Base is a substance which releases hydroxide ions when dissolved in
water

II.  They change blue litmus to red

III.  Zinc reacts with sodium hydroxide to form Sodium Zineate with the
liberation of hydrogen gas

IV. They are colourless with phenolphthalein and pink with methyl

orange.

A.Tand III B. Il only C.lIIand IV D.IVand Il

STIBIB6T UBPIUI SPSHBNIL dmpbpidefley aigl / etemeu &fl?

L. SMIRIG6T BHled HMIHSH MABLITHMFH DWelsmend SHmD GFTomIS6iT
SHTJHIGET  6TGILILIHES 61360

II. @me Hev I ey FHTewend Heulims LOTHBBIS 636

II. &HsETeD, GFmouind el JroHmaFhlLar el ibsl  aml Jege
aumuwenal Geueflull B Gamouid MRICHL WL & SHHSBSI

IV. @omea WUemiselell 61 HBBBHTEHD CosHaed SLTehdil 6T @emehdlalli
BHBS®SUID HHSlmen

A. T wppp III B. I o (i

C.III wmmd IV D. IV wmg 11
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119.

120.

121.

122.

Match List I with List II :
a. Right to equality 1. Articles 25-28
b. Right to Freedom 2. Articles 14-18
c. Right to constitutional remedies 3. Articles 19-22
d. Right to freedom of religion 4. Article 32

a b C d

A, 2 3 4 1

B. 1 4 3 2

C. 3 2 1 4

D. 4 1 2 3

ulgued I & Il o L& QUIhEHSHIS

a. gwHzen o feno 1. algl®eT 25 (Pp&He0 28 eueny
b. azbdr o Menio 2. aldad6r 14 (1pHed 18 eueniy

Cc. ofweoemwliIBeLulG 3. algser 19 1PpFHed 22 euen]
&iTe STamId o Meno

d. sow ashdy o Meno 4. alg 32
a b C

—_ N W
Wk N R A

4
3
1
2

N =y
B W = N

From when Women were granted the right to vote in British India?

A. 1920 B. 1921 C.1922 D. 1923

Ml ges  @bHumaled  OUaTHEHHEG  amsGTlend  6hd  DLenged(Hbal
QULDRISLUILIL L &1?

A. 1920 B. 1921 C. 1922 D. 1923

In which year the Staff Selection Board was established in Tamilnadu during
the Panagal Ministry?
A.1916 B. 1920 C.1924 D. 1927

LUSISH60  SIMFFTmULITEL o (heaurdslul L uewflwmenT  Gxiey  eumfluud
SODBHTL 1960 61hSH 6B CHTBmIelssUILL L &7

A. 1916 B. 1920 C. 1924 D. 1927
Match the following :

a. Thembavani 1. Hindus

b. Seerapuranam 2. Christians

c. Bhagvad Gita 3. Buddhists

d. Tripitakas 4. Muslims

a b C d
A. 4 3 1 2
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123.

B. 2 1 3 4

cC 1 3 4 2

D. 2 4 1 3

QUTHSHHIB FLOWMIGET ST HITOHEI

a. Gzplbumeuemf 1. ®baH Fowibd

b. Fmmiyrewiid 2. dflerdgian Fowib

C. UBUSHHMS 3. Uss FLowib

d. HffLsb 4. B6rO6VMID FLOWILD
a b C d

A. 4 3 1 2

B. 2 1 3 4

C. 1 3 4 2

D. 2 4 1 3

was discovered in 1992 under the Supervision of R.D. Bannerji.

A. Mohenjadaro
C. Lothal

B. Harappa
D. Kalibangan

R.D. umeorgd ereieugmed 192260 Sewoi MLILIL L [BSBFLD

A. GreamnehasTGym
C. Gourdgev

B. emgur
D. sedumise

124. Who was called as ‘the father of Modern Currency’ during the Mughal

period?

A. Babur B. Akbar C. Shershah D. Shah Jahan

(PHEOTWIT STEVHSH0 ‘Betert BT (BUIET HHmS 6161  DIGDSSLILIL L 6UT
wimir?

A. umur B. @isur C. Gagragr D. agrmemmest

125.  In the year 2017-18 The Per capita Income (GSDP) of Tamil Nadu was

A.$1670 B. $ 2200 C.$1443 D. $ 2175
2017-1860 HUODBTL 96 el BUT euaboted (GSDP) ersieueney?
A. $1670 B. $2200 C. $1443 D. $2175

126. The Utkal plain is found in ___ states.
A. Andhrapradesh B. Mumbai

127.

C. Odhisha
© 5560 FLO6eU6T

A. 9pFniyGsaid
C. quar

D. Tamil Nadu
LOTHIEVSHH60  DIEHLOHSIGTENS]
B. apibewui

D. gu0wprl

0° longitude and 0° latitude is located in
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128.

129.

130.

131.

A. Central Australia B. Brazil

C. Atlantic South and West of Africa D. South Pole
° ghes Cremasulld 0° oI’ Grensulld STeIlILBaIS!

A. wiHHW SLe0HCredwim

B. 1Gydfev

C. Oparon eomenngsd opmid Gwom@ SinfasT

D. Ozer simeumiserlsd

=}

Swine Flu is cause by

A. Rubella virus B. Rhina virus
C. HIN1 virus D. Alpha virus
U STUIFFMNE0 2 (HOUTHGHID MEUTErD

A. (BUGLELT MAUTEND B. enyGenim emaeurerd

C. HIN1 emeuyerd D. &0 .uT avaugerd

The Androgen Binding protein is produced by

A. Hypothalamus B. Leydig cells
C. Testosterone D. Sertoli cells
AL CITme Qenewie] UISHmd 2 MBLSHFH GguiLiene
A. mamBuTgHeuTLO6D B. &Sip&0aevsmei
C. OLervBLmerdie@rymest D. Gai6Lmel GFe0®ait

Assertion (A) : Blood samples are usually taken from the veins rather than
artery.

Reason (R) : Low Pressure in the veins

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. (A) is true, (R) is false

C. (A) is false, (R) is true

D. Both (A) and (R) are true and (R) is not the correct explanation of (A)
aBpl (A): @155 wiHfser abhdsd swalsmen allF FHogsGar FmpboHemel
sryenid (R): dAengseied BrsHd WHSD GHmBaUTs EHSHEGLD

A. A oBpid R @rewiid afl Guosuid R etaiiug A ali3@ gfwner alendasid

B. A sfl gemed R sHeums

C. A sap semed R &l

D. A oppidb R @yewigid afl Guoaidb R ereimugl A alig gflwmer alenédsioeosv

Which of the following fact is incorrect about monocotyledonous plants?
A. Seed has single cotyledon

B. Leave have parallel venation

C. Fibrous root system present

D. Flowers are pentamerous
Leiteupld @halsHHlened SHTeuImiseT UBBWL FaBBHeried HeupTerdhl 61%i?
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132.

133.

134.

135.

A. aleng @ albHmevenl CETeRIL g

B. @mevsefled GenenriGUTEE HIbUMIDS| STl ILBS MBS
C. 56060861 QBTG STERIILBS MBS

D. ;bamis 1060 STenilILBGSBS

Which of the following fact is incorrect about mitosis?
A. It occurs only in body cells

B. Mitosis has two divisions

C. Maintenance of 2n chromosomes

D. Two diploid cells are produced

Lol L TFlerd uBpiw Leiteu(pld FnMBmIserled HeupTendl 6157
A. 2 160 GFevmefled LGB HLOUBISBS

B. emwol Lrdled Bh UGLILBm6Nd OlBTewTL G

C.2n" &GymBwnBambser HemeOBBISHLILIGH BRI

D. &m Smwuibgeoser Gmetmisenment

Which of the following are wrong?

I. NaxCOs is used in softening hard water

II. NaHCO:3 is used for bleaching cotton and linen in textile industry
III. CaSO,4 Y2 H,O is used for plastering fractured bones

IV. CaOCl; is used in making of baking powder

A.Tand IV B. I and IV C.Iand III D. Il and IV
LT63T61(THEUETEUMBMIGT SHEUDBTEINE!  61606Y?

L. Na,COs3 sger mewy Gliosteiyms OTBBUILIWLIETLIGSBS

II. NaHCO; umsHd), edenet siemidemen Gleuehdall LUIGTLIGSBS
II.  CaSO4s % HyO ppiibs 6Te0IDLIBemeNT L L 60audhdll LILITLIHEImE)
IV. CaOCl, Ogmig&Bamm swimfldsi LweaUGSBS

A. T wppio IV B.II wmpw IV

C. T wmpnb ITI D. III wommnd IV

Focal length of a convex mirror whose radius of curvature 40 cm is

A.20 cm B.40c, C.80 cm D. infinity
40 Q&5 euemeniey D 2 LW Galwmy el Galwd CFHTeneva]
A. 20 Qg5 B. 40 G&.15 C. 80 Qg.18 D. apgaisl

A man has to exert a force of 10 N at the edge of a door to push it open.
How much force will the man have to exert if he pushes the centre of the
door?

A. 10N B.5N C.15N D.20N

@M BUT @ SHme iHer (Peneruled (emalidiguisd) 10 N ojerey allengenwl

CFasHd HpUuT, el 9IBFH HHeweu DIHeT MU UGHHuUled E\hHbEH FHBHD
Cxpemaulipld allenguller WG] eTedreor?
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136.

137.

138.

139.

140.

141.

A. 10N B.5N C.15N D.20 N

The first battery was made by

A. Joule B. George Simon ohm
C. Alessandro Volta D. Newton

(P60 LOBIHVHMNSH 2 (HeUTHSIULIUT

A. 3760 B. mnite) emgioeir gib
C. 9Gevdamem Gym GeumeOL T D. mluyl L e

The average height of 12 students in a class was calculated as 152 cm. On
verification it was found that one reading was wrongly recorded as 148 cm
instead of 172 c. Find the correct mean height

A.150 cm B. 156 cm C.158 cm D. 154 cm

R  au@lled 12 wrewiauTsefer  ggmgfl o wgd 152 QF.0  elenid
SISSHLUUL LG FiumTéd@ld Gurgl 172 GF.6 awiuemsd 14 6F.15 6l HoUBTH
abSHHS OGameteniul L HTe (M ubsdH eaied gflwmer sgmam o wgd wrg?
A. 150 Q&.5 B. 156 G&.15 C. 158 Q&.5 D. 154 Q&.5

The difference of the squares of two positive numbers is 45. The square of
the smaller number is four times the larger number. Find the numbers

A.3and 15 B.9and 5 C.3and 16 D.9and 6

@6 WeNed olenIHeMel ITHIMIG6MT SHHWTFD 45. FPlul elemreniel TSI
oLeoigl  Guiflul  elewTeniiell  BTEEG WLRISBGSHF OO 6leled Db  6l6wTen6H
HTENRIH

A. 3 1oBpib 15 B. 9 wBmb 5

C. 3 wBmib 16 D. 9 wmmib 6

The radius of a cart wheel is 35cm. How many revolution does it make in
travelling a distance of 154 m

A.70 B. 189 C. 119 D. 86

TG euewigd FHEIHIET D 35 0515 Sig 154 15 OFHTeneve] SLHSHT6V,
DIFFEBID 1HBHME (PIPFFBMIB6T SBUIUNHBGWD?

A.70 B. 189 C. 119 D. 86

Saran is 6 times as old as his son Sankar. After 4 years, he will be 4 times as
old as his son. What are their present ages?
A.30,5 B. 36, 6 C.48,8 D. 24,4

gyewt  eteilleufledl  euwIFH  HeoT  oHeT  FwmBHer  euwemHLIGUTeL 6 IDLMIG. 4
QUBLMEISET HPSHH Seufledl  euwigh HeT  awmSLICUTED 4  IDLMIEG —6T6ileL,
SlalTseler HBOUTEMHUW 6UUIG! 616560 !

A.30,5 B. 36, 6 C.48,8 D. 24,4

Express 0.35 into fraction
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142.

143.

144.

145.

146.

35 B. 32 C3> D2

'_@ " 100 10 1000

0.35 61631 6T60Ten600T  LIGITGILOTES oM
o B. 2 C.3> D 2
99 100 10 1000

How many numbers are there between 200 and 300 which are exactly
divisible by 6, 8 and 9?

A. one B. Two C. Three D. Four

20053 300630 @ G 6, 8 LBMID 9 HHUI  GTEBIHEMTED  UGHLIL HnlgUl
GTENIHGIT  618SH6N60 26116116017

A. @eyl B. ®yewi®p C. capaimi D. mreig

A can do a piece of work in 20 days and B can do it in 30 days. How long
will they take to do the work together?

A.10 days B. 12 days C. 11 days D. 20 days

A eaauat @ GCaimevenws 20 BT &6eMed B eaiuaim £08% Geusmevenus 30
BT S6eMed CFUIFH (WRLIUTTH6T. Seualhaurmbd CaFibhal SleiGaimevamuws OCFUIH
(PIYHE 615HHEMET BT 6T HYGLD?

A. 10 prser B. 12 mm sei

C. 11 pr_sei D. 20 mmsei

If 14 compositors can compose 70 pages of a book in 5 hours, how many
compositors will compose 100 pages of this book in 10 hours?

A.12 B. 10 C.8 D.7

14 9oFss Carmiuealiser, 5 wenl GCBISHFHL @ USHEHH 70 LIbBHISHMm6N
@l 10 wewll  CrHyHEHe0, 100 USBHIBMENT (PSS IHDHMO  DFHid
GamimiueiTaer CxHeneu?

A.12 B. 10 C.8 D.7

Find the simple interest on Rs. 7,500 at 8% per annum per 1 year 6 months.
A. Rs. 600 B. Rs. 700 C. Rs. 800 D. Rs. 900

7,500 3 8% ey eisD @I QIBLID 6 THHIGEHHHTE Sl el 19enuid
SHITGWTED

A.3600 B. X700 C. %800 D. 3900

Cricket player Dhoni’s average in first 30 matches was 72 runs. After 31st
match, his average raise as 73 runs. How many runs did he make in 31st
match?

A. 100 B. 103 C.74 D. 108

M0l eyt CLmefule (pHed 30 Syl MisEhHETT FJTam UL (runs) 72
TSHHEMISBILLILLIHHSHSHI. 3leugd S LD HoLOUBB el SieurmenLul  FIma
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@ULID 73 o5 o WihsHs eaied 3laug S L HHe0 el  IBSHHHbHSD
PLLMBIGET (runs) e1gseme?

A. 100 B. 103 C.74 D. 108
. . 315
147.  Arrange in ascending order 12'8
A 153 135 c 351 D 315
2814 248 4 8 2 4 2 8
gmieuflenguled e1(1DHIS §1§
4 2 8
A 153 B 135 c 351 D 315
2814 248 4 8 2 4 2 8

148. Ina T-20 Cricket match, Raju hit a “six” 10 times out of 50 balls he played. If a
ball was selected at random. Find the probability that he would not have hit

a “six”.
Al B. 2 c 8 D. 32
5 5 5 5

T-20 wlewLiupbg Gumipuied gre 50 uUbgHISDen aHTOSTWIH 10  (LpedB
“aan”  @ULEIGSmET IBHITT. SauT 6IHTeSTHL  LUBSHIH6MND (h ULHDD
goaumuity (wenpuled GCHTHOHBSGHWD CuTEH PO ST “ouBl” QL LEISET
TBHFBTOE0 E(HLUILISBSHTEN HlBHLDHBH6)| 616016017

1

A L B. 2 c. b -2
5 5 5 5

149. “Right to clean water’ is a fundamental right, under the Indian Constitution.
A. Article 12 B. Article 21
C. Article 31 D. Article 41

‘FHHBOTT  GHT OUBIHED 6IaGILGH  BG Sl o fleww. BFH bl
SpFlwevsnoliied e1bg Liflalled oL mislueieng?

A. ey 12 B. dfley 21 C. ey 31 D. dfley 41

150. “The Detroit of Asia” is

A. Hyderabad B. Chennai

C. Mumbai D. Surat

‘orflwmallesr QLU gmuil’ ereaimenpSSLILIBILD @)L LD

A. »aBHITUTS B. Qsesienen C. pbemu D. &1
151. The education system in India consists of primarily ___levels.

A. Eight B. Six C. Four D. Two

BhHW Heval(pedm SIQLILIEHL UT6L Blemevsemend OB TeRIBH6ITenS)

A. ol (B B. @m C. pres D. 8yewi
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152.

153.

154.

155.

156.

157.

Kamaraj served as the Chief Minister of Tamil Nadu for

A.7 years B. 8 years C.9 years D. 10 years
SIODBTL QT (LPSHeVEMIDFFITS SHTOITNT LSHa] IS HHH

A. 7 QumLBIGB6T B. 8 aumLmisel

C. 9 au(pLBisbe6N D. 10 eumLmBiser

GST came into effect on ____ in India.

A. 29t March 2017 B. 15t July 2017

C. 29th March 2016 D. 1st July 2016

GST @pgwmaisd HenL (peBHE IbHDHSHI

A. 29 wnTF 2017 B. 1 sgremev 2017

C. 29 wonTF 2016 D. 1 sgremev 2016

Mutant variety of wheat is

A. Oenothera Lamarkiana B. Castor Aruna

C. Sharbati Sonora D. Mirabilis Jalaba
gbgd BB CaTaHimD eImsd

A. rGemaym  euLIMLDTTHE WImenTT B. suoewid@ oimevort
C. gnfiug) Qan@ermym D. fpgmiederd ege0muT

Which of the following statement is not correct?

A. Indus Valley people used burnt bricks

B. This civilization flourished in India about 4700 years ago

C. Harappa in Sindhi means “Buries City”

D. Hundreds of square seals were discovered here

6be SBDI SHEUBTAIS?

. Ahal Fwletel WHEF6T Gl OCFmeBEMmenl LWe6LIBSHS6T

GLomT 4700 eI BHEhHE (P& SHETSMNSD LDVTHHSHI

ampyluT el HbSHOTHEF CFTe0IHE ‘LTIl BB 6lerlgl OILIm(mHel

. FHIT QU9 60T60T BT 03155 & 600185 BT 60T (PSS T &H61T QLG
&1L (HHBLILIL_ (HeiTen S

onNwy

Which article of the Indian Constitution talks about “Taxes levied and
collected by the Union but assigned to the States?

A. Art. 201 B. Art. 269 C. Art. 272 D. Art. 268

HHUW DITFTEL alFHSSLILLBLD, UEGEISSLILL(BLD, LOTHVMIBEHHEG @DHIHHDHIIQU
alenmiseT UMK GBIUIGL bhHu DFfluieoemiolil] FUL ST FTHH 6lewt Wmgl?
A. 153 201 B. sgsa 269

C. ggdam 272 D. sysa 268

I. Baripada: A hamlet that Conserves Forest, promotes growth.
II. Baripada: Located in Maharastra - Gujarat border.
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158.

159.

160.

161.

162.

A.lis true but Il is false B.Iand Il is true

C. I is false but Il is true D. I and II are false
I urfuLm: srhsmenl UTHIBTHH aEMILGHHID @h GHHITOD
II. umfuLm: weasTITaYNYIT — GH2ITH 6T6LmMEVUT0 DIMLDHSHIGTENTS
A. T eeiugy af, geme0 I Heum

B. I wmpid I sflwmerene

C. I eemug seum, syermeo I eresug o

D. I wmpid I seusrerenel

Chennai becomes the ___ Indian city with metro railway.

A. first B. fifth C. sixth D. second

BhaHw  senaled, OFeaiewer HFBJD, GWLCIT Aruied GFemeu GHTewIL
BSBJLOTGLD

A. (pseoTeug) B. ;bareais C. aipraug D. 8yewi_meug|

When was Swachh Bharat Abhuyan was announced by the Prime Minister?
A.2Oct 2013 B. 15 August 2014

C.20Oct 2015 D. 2 Oct 2016

IOl evOeusd LMISH Sillwmer LFsw whHMwmed opialldbsii L gi?

A. 2 &&CLmuT 2013 B. 15 gy®er0l” 2014

C. 2 &5CLmut 2015 D. 2 9&6Lmur 2016

How many political parties participated in the 1951 First Indian General
Election?

A.54 B. 64 C.74 D. 84
1951d oI BLOUBB  (WHe0 @b uTHISCHTHe0e0  Gumigui L
B FH6IT 618 FH6N60T?

A. 54 B. 64 C.74 D. 84

India’s central meridian passes through

A. Ahmedabad B. Mirzapur

C. Greenwich D. Gujarat

Sphywneler wHHW Hiess Crens aupuns GFeeSmg)
A. oswogTurg B, bitgmy C. SlaalF D. @2

Who is the first Indian transgender to be honoured with ‘Padmashri’?

A. Satyasree Sharmila B. Prithika Yashini
C. Narthaki Natraj D. Tamilselvi

U] elbs GUID WHe SRS DR Wii?
A. s agTdlenT B. Ufsaar wrade
C. pTHsd BLITH D. suips6gevai
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163.

164.

165.

166.

During 1857, the peasants had to pay heavy taxes in the form of

A. Land tax B. Customs duty

C. Revenue tax D. Service tax

185760 GRWTaIaTHT DFHHTH CFasHd GCouewrguilhbs eurfl?
A. mleveur B. sms eufl

C. aumiomer eurf D. Ggeneu &l

Home rule league in Bombay was formed by

A. Bharathiar B. Mrs. Annie Besant

C. Nehru D. Tilak

ubumuiled HeitenT & SpeHend CHTmmialdhaHeuT

A. urggwmi B. dmws sisel6ugeb

C. Grm D. glevsit

Match the following

a. Herald of new age 1. Anni Besant

b. Martin Luther of Hinduism 2. Raja Rammohan Roy
c. New India 3. Ramakrishna Mission

d. Photo Voltaic lighting system 4. Swami Dyanandha Saraswathi
a b C d

A 1 3 2 4
B. 2 4 1 3
C. 4 3 2 1
D. 1 4 3 2
QUT(HHHIB

a. maier @phHwimaler ally Oeustell 1. SieieloLIF6G

b. @bal FowiGHer WOIT 19T THT 2. @gmegm JrbGOTHT FIul

C. plw, @b 3. @M (HAREIIT DL LD

d. @&flw @efl cpevid feramyd 4. Foumldl SWTahHS FJeroeud)
a b C d

A1 3 2 4

B. 2 4 1 3

C. 4 3 2 1

D. 1 4 3 2

The Central Vigilance Commission was established on the recommendation
of

A. Administrative Reforms Commission

B. National Development Council

C. Santhanam Committee on Prevention of Corruption

D. Law Commission
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167.

168.

169.

170.

171.

172.

Gualer  ufbgiemgulet  SIQlILmLUTEd  HSHW  BHevIBHTeulLIL
SLENGNIUILD  DIEDLOSSBLILIL L G
A. pliteurs FTHHSS DLeMewILID B. CGadflw euenii&dld Gp
C. ghamend oampsd HOHUL G(ID D. slL gimemruwib

The Chief Justice and other Judges of the Indian Supreme Court are

appointed by

A. The President B. The Attorney General

C. The Governor D. The Prime Minister

BhHU 2 FF HAHWEB SHMEVOID HHULH WBXID LIB HHUHSemen BT
A. BQUITFHSHHM60IT B. semeuemip eulpd@enehiT

C. ouembT D. dysip Semgat

Which Amendment has made provision related to ‘Nagar Palikas” (Urban
Local Governments)?

A. 7314 Amendment Act B. 75t Amendment Act
C. 74t Amendment Act D. 70t Amendment Act
BST UTed&sT FLLID &FMTbEH FLL SH(HHSD SLGLD

A. T3augl UL SHHBHHID B. 750ug1 FU L &FpHSID
C. 74oug UL $HHSHSD D. 706ug gL $FmsHsHd

Which Union Territory has its own elected Legislative Assembly?
A. Chandigarh B. Lakshadweep

C. Puducherry D. Daman and Diu

&P &ML UBMBI6NT Q11> UL, 60flULI 65T yGxha1d 601016 LD& 66V
CaiMbOHBHeHSUILIL L. FLUL LGB 6Tl S

A. Fewngst B. el gdhHalmer

C. yssGa D. Lmoer oBmib enL_ul,

In Lok Sabha, how many members are elected directly by the people?

A. 453 B. 354 C.543 D. 545

wéHemmalulled  waHemmed  Cprouwine  CHTHOSGSSUILGL o B NeiTaseri e
oTmTemNbend  WITHI?

A. 453 B. 354 C. 543 D. 545

Which article of The Indian Constitution deals with fundamental rights?

A.14 B.19 C.32 D.51 A

by  gpFfwevemliisr  6hSH  alldl DILILIDL SHEHLMIDEHMET GBI HSDI
alensGSmSHI?

A.14 B.19 C.32 D.5ls

Which right has been abolished by the 44t Amendment Act, 1978?
A. Right to freedom of religion
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B. Right against Exploitation
C. Right to Property
D. Right to Constitutional remedies

197860 4461z SIFFlwievsnLol L& FLL HHHHSHHIH 681 Lilg SlglILIenL

o Memwoulledmba BHSIULL 2 flenn 615%?

A. sWEF SHHIATSHBETT 2 Memio

B. spewiLenev sBLILSBSTET o flenio

C. Garggifeno

D. sppdlwevsnioliy aufl sieysendbster o flenlo

173.  “The Right to information Act’ was passed by parliament on

A. 20 October 2005 B. 21 October 2005

C. 25 October 2005 D. 12 October 2005

‘HHaUL QPBIWD o MenpF FULID' UTTTEHLOGIBSHH 6L HlenmpGeuBmriLL L [HT6l
A. 20 o6LTuT 2005 B. 21 &&@Lmur 2005

C. 25 &&6Lmur 2005 D. 12 &86Lmuir 2005

174.  Match the following :

a. First session of Constituent Assembly 1. 4t April 1957
b. Date on which Drafting Committee
was setup 2. 13th May 1952
c. 1t sitting of Rajya Sabha 3. 29t August 1947
d. Dissolution of the 1st Lok Sabha 4. 9th December 1946
a b C d
A. 4 3 2 1
B. 1 2 3 4
C. 3 1 4 2
D. 2 4 1 3
QUT(HHHIB
a. oIFlwed Ml FenLl (IPFHED Fal L LD 1. 4 gligev 1957
b. aumreas&Huy o maurssiu L Cxd) 2. 13 G 1952
C. LOTHIEVRISET SDieneuullel (LpHe0 Tl LSHOSTLT 3. 29 suserol. 1947
d. guyurs Hend 4. 9 19FDUT 1946
a b C d
A. 4 3 2 1
B. 1 2 3 4
C. 3 1 4 2
D. 2 4 1 3

175. The Railway Station “Mendipathar” is located in
A. Sikkim B. Meghalaya C. Tripura D. Nagaland
‘QoainguHTT  @Juled HleMeOWID 6H%H LOTHELHSHED DIEWLOHSHICTENSH]?
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176.

177.

178.

179.

180.

181.

A. dadlb B. Gwsmeowr C. gflygm D. mraeunbal

The first state to be created on Linguistic basis was

A. Kashmir B. Tamilnadu  C. Karnataka D. Andhra
W0 GomPleur LOTHeVD 61517
A. sTeduT B. sWipmrG C. sTpILsb D. sybggm

Who provided the Vimana of the famous Nataraja temple at Chidambaram
with a golden roof?

A. Raja Rajan - I B. Parantaka - I

C. Rajendira - I D. Narasimhavarman - |
FHDUTID BLITMT SHEOULSHET FnedHG CUTBIeDT GouulbEHeuT wimT?
A. (pFHeumD JTEQTTE6H B. apgeomd LmhHase0t

C. wpgeomb yr@eamhyest D. (pgHeomb BgbLosuTLoes

Who was called “Madurai Kondan”?

A. Aditya -1 B. Rajarajan - 1

C. Raja Raja - 1I D. Parantaka - I
“IDglen] OBTERIL M6 616l LIBLOLILIL L T  UlmiT?

A. (pzeomd SEHHaUIT B. wpseomid @ymegrmegest

C. QyewiLmbd Gyregymegest D. (pgeomb LIymHa a6t

Who was the son of Simhavishnu?

A. Narasimha Varman B. Mahendra Varman -1
C. Parameswar Varman D. Nandivarman
FiboalepemIeesT LD&H6dT  WIMiT?

A. BIFIDDeUTLD6ST B. waeomb w@aspbAyeuTioest
C. uyGoerbeureuiioest D. mhgeumioest

Headquarter of West Central Railway

A. Mumbai B. Hubli

C. New Delhi D. Jabalpur

GuoB@ wHHw FulevGeuuler HemevenLoul Lb?

A. pibenLi B. amrliefl C. ysIOL 606 D. sgueouT

Which of the following is correctly matched :

I. Indus - Gangothri

II. Brahmaputra - Lake Manasarovar

III. Godavari - Bettul

IV. Mahanadhi - Agasthiyar Hills

Al B.II C.III D.1V

SpHBemiLauBmien Fllwns QUTHSHSLILIL BeiTendl 617
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L. Fbgl - BmIGaT&H

II.  Agbwoys sy - oTeng@rmeuT B
II. Garsmeurf - QU@

IV. wampd - DIBHSHHWIT D66V
A.l B. I C. 1 D.1V

182.  Which of the following facts are correct about prokaryotic cells
[. Prominent nucleus is absent
II. Nucleolus is present
III. Mitosis and meiosis cell divisions are takes place
IV. Enveloped cell organelles are absent
A.Tand II are correct B.Iand IV are correct
C. II and III are correct D. Il and IV are correct
Wetteuhd LGImBaMBwIm’_(p OFevsme uBMlw mBmiseiled gFfluimerenel eTeneu?
L OxpefeuTer o I &, SHlenl Wing
II. PusaiGureverd sTeILGH MBS
III.  emwlLrfled wBmd Wwnded QFeLLIfHe B CLIBIBBS
IV. geaaleamed @Gl L OFed HlewTamIBILILEH6T 6wl UITH]
A. T opmid 1T & B.1 wvBpw IV &
C.II wppwp I &M D. I wpgw IV &

183.  Which of the following is correct?
Volumeof CO, liberated

Volume of O, consumed
Volume of O, liberated
Volumeof CO, consumed
Volume of O, consumed
Volumeof CO, liberated
Volumeof CO, consumed
Volume of O, liberated
Leteu(heueteummled gilwimendl 61ghi?
QeuefulLiupo CO, Sjenay
LweTUGS sLLGL O, Sieney
Qauefui_tinp O, Sieney

A. Respiratory Quotient =

B. Respiratory Quotient =

C. Respiratory Quotient =

D. Respiratory Quotient =

A. sans aipb =

B. seuns alsb =
Lwedt UGS s LG CO, ojerey
C. sons ol _ LWl U@ S0 LG O, sieey
) QeuefulLtiup CO, ojerey
D. sons alsid _ Lwiel UGS 1 uBLd CO, sieray

QeuefuiLiuGn O, Sieney

184. The reaction which takes place at cathode of an electrochemical cell is
A. oxidation B. neutralization
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185.

186.

187.

C. reduction D. substitution reaction
@ Wt Gougldsmeveled ergliTdleeumuisd HeIOWD alenet
A. 915FmCabpLD B. pGBHemeowndse0
C. a5dm6ar @bBdHHID D. ugell B alener

An example of commonly used Insecticide is

A. Bordeaux mixture

B. 2, 4-Dichloro phenoxy acetic acid

C. Dichloro diphenyl trichloro ethane

D. Arsenic

CQuTEIUTEL LWSTUGSSIUGBLD LUFFS0HT6060HE 61(HHHISHTL(h
A. GUITLT&e Hevenel

B. 2, 4 ew &GemBym emsd li9dh iblevld

C. ooL&B8eamGym ewL Liemested 1 edy&HBenm@rm a6

D. sytseis

Match the following elements with its Latin name :

a. Lead 1. Stibium

b. Antimony 2. Plumbum

c. Tin 3. Kalium

d. Potassium 4. Stannum
a b C d

A 1 3 2 4

B. 1 2 3 4

C. 2 1 4 3

D. 4 1 2 3

&B1p QT asLILL (HeiTer 60T LOMIGHED6TT 8|5 601 605 60T

CBHTLTLBSHSLD

a. Oeul” 1. eroigLfluib

b. syengioemn 2. WembLib

C. 196dr 3. &mevlwd

d. Gum’ Lrdlwib 4. ero@L 6D
a b C d

A 1 3 2 4

B. 1 2 3 4

cC. 2 1 4 3

D. 4 1 2 3

QuwiTaGer(H

If the focal length of a concave lens is 2 m, then the power of the lens is

A. 2 dioptre B. 1 dioptre

C. 0.5 dioptre D. -0.5 dioptre
2 1§ @alwsbHesTemens] 2 emLuwl GLGeveTFler Hlimeor
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188.

189.

190.

191.

192.

193.

A. 2 emLwimiLir B. 1 emLwimiii
C. 0.5 ewLwimii D. — 0.5 enLwimiii

The maximum temperature in a city on 7 days of a certain week was 34.8°C,
38.5°C, 33.4°C, 34.7°C, 35.8°C, 32.8°C, 34.3°C. Find the mean temperature for
the week.

A.34.8°C B. 34.9°C C.34.7°C D. 35.2°C

R GEII L  anmysHHed BaEIHHET FHsU’ g Caniupleney 34.8°C, 38.5°C,
33.4°C, 34.7°C, 35.8°C, 32.8°C, 34.3°C o1& @nbHdHH. Obd aungshder Fyrgfl
OeULILIHlENeVENUIS HT6HTH

A. 34.8°C B. 34.9°C C.34.7°C D. 35.2°C

A group of 100 candidates have their average height 163.8 cm with
coefficient of variation 3.2. What is the standard deviation of their heights?

A.3.23 B.4.91 C.5.24 D. 6.38

R Gupaled 100 GuiT o _eienenT, SeuTHeler o _wgmidele gl bFggram 163.8
CF.15 1oBmIb  TRUT (HHE1 3.2  ealed, UTHEHMLU  © UIFHIGH6T 6
FHLavSEEHMHH HT60IH

A.3.23 B.4.91 c.b5.24 D. 6.38

The present ages of Reena and Usha are 24 years and 36 years respectively
what was the ratio between the ages of Usha and Reena, 8 years ago?

A.74 B.6:5 C.2:3 D.4:7

feoorT LOBBID 2 _agtalel SBCUTMSHW aIwISHH6T (WPedBCW 24 au(HLEIS6T LBHILD
36 QUBLMIB6T oefled 8 UWIBBEHHG (P 2 T  oBmID  FewrTeled
aWGIHeNer aldSHD elaereuTd EHbIH (HIHEGLD?

A.7:4 B.6:5 C.2:3 d.4:7

(33)—2 % (22)—3
24)’2 x3*x 47

Simplicity (

A72 B. 92 c. 71 D. gt
9 7 9 7
. . (33)—2 x (22)—3

TOPO 087 34

A72 B. 92 c. 71 D. gt
9 7 9 7

The total surface area of cube is 384 m?2 Find the side of the cube

A.3m B.8m C.4m D.6m
QR(H BINEFFHTHHT OTHSH auemerUrii] 384m?2 erafled DIHET LHBID elalal6Ta]?
A 318 B. 8 1 C. 418 D. 6 18

Find the LCM of 3(a - 1), 2(a - 12, (a2- 1)
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194.

195.

196.

197.

198.

A.(a+1)2(@+1) B.(a-1)2(a+1)

C.6(a-1)(a+1)? D.6(a-1)2(a+1)
3(a-1), 2(a—1?%(a°-1) &1 WBFAB QUITHI OLHIF SIS
A. (a+)*(@a+)) B. (a-1)*(a+1)

C. 6(a-1(a+1)? D. 6(a-1)*(a+1)

Find the cube root of 1%

61 . . . .
1a 601 (LpLILIG  CLPGULD  &bIT6001H
> 3 > 8
A. 8 B. 7 C. 4 D. 5

The ratios of the respective heights and the respective radii of two cylinders
are1:2and 2 : 1 respectively. Then their respective volumes are in the ratio.

A.4:1 B.1:4 C.2:1 D.1:2
Brewi® 2 _(Hemendeiel o wWImidber (pemmpGui 1 : 2 1oB@ID SiUBSeT SLImIG6IT
wempBuw 2 : 1 gl aldsmseilelmller, SieuBler Her Sleneadeiler il
A.4:1 B.1:4 C2% 1 D.1:2

At what rate of interest a sum of money doubles itself in 10 years in simple
interest?

A. 10% B. 20% C.50% D. 25%
R OFTenswnargdl SHolaully wWesulled 10 aumBLSHH @Illiunsd S5 alllg
AlFlD ecleeiauTs D (hHHH Geuemi(hld?

A.10% B. 20% C. 50% d. 25%

In a Geometric progression t; = g; t3= % . Then the common ratio is

Al B.1 C.1 D.5
5 3
R QUBBSGSHESHTLT  sauflenauied tzzg LOMB3ILD t3:% oeolled  QuUTgl  elldsID
SITC0155
1 1
A = B. = C.1 D.5
5 3

If a; = -1 then find ay, az in a, =a“—‘12n >1vneN
n+

11 g L1 c 1-l -1 -1
" 420 " 4720 " 4720 4’20
al=-1 BmIb a11:—*12,n>1VneN 6160160 a,,a, SHITeIsH
n+
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A 1L B. 11 cli p. 2t
4 20 4 20 4 20 4 20
199. If 1+2+....4+4n = K then 13+23+....+n3 is equal to
A. K2 B. K3
C. @ D. (K+1)?
1+2+3+...+n=K erafled 1*+2°+...+n® earadiLigl
2 3 K(K +1) 3
A. K B. K C. —= D. (K+1)
200. The Common ratio of the G.P. amn, am gm#n jg
A.am B.am C.an D.an
a""am,a™" aeiiB QuUHBGHHOSHTLT auflenguler OUTH al&HLd
A.a" B.a™" C. a" D.a™m
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